Office Copy

## Ref: MDIM/Admin/NIT/CIVIL/2019/SEP-1

Date: 20.09, 2019

## Notice Inviting Tender

To M/S JN ENTERPRISE PROP: JISAN MALLIK ABDUS SAMAD ROAD P.O.: GORABAZAR P.S: BERHAMPORE DIST: MURSHIDABAD

To M/S ARLJIT SARKAR PROP: ARIJIT SARKAR P.O: COSSIMBAZAR P.S: BERHAMPORE DIST: MURSHIDABAD

To HAQUE CONSTRUCTION PROP: IMON KABIR HAQUE P.O. + P.S.: BERHAMPORE DIST: MURSHIDABAD

To M/S M.S. ENTERPRISE PROP: SK MD MEHBOOB ALAM VILL: TALBAGANPARA, P.O: CHALTIA P.S: BERHAMPORE DIST: MURSHIDABAD

To A.S. ENTERPRISE PROP: ALMESH SHAIKH VILL:MALDOVA P.O: RAJANAGAR DIST: MURSHIDABAD

Management Development Institute Murshidabad invites sealed quotations in prescribed form (Annexure-I) from the contractors for the urgent work namely 'Construction of New Faculty Rooms Adjacent to Library Space at First Floor Level at Academic Block' at MDI Murshidabad campus, Kulori, Post: Uttar Ramna, P.S. Raghunathganj, Dist.: Murshidabad, Pin:742235, WB, India

Details of the work are as follows:

1. Name of Work

: Construction Of New Faculty Rooms Adjacent
To Library Space at First Floor Level at Academic Block
at MDI Murshidabad campus.
For details of the works please
Refer to the attached Annexure-I.
[The agency/vendor should visit our

Page 1 of 6

Deupte

Jungan Sans Jam

Campus before submitting quotation]

2. Time allowed for completion

: 30 days

3. Last date and time of receipt of quotations.

: 15.10.2019 (1.30 P.M)

: Registrar, Management Development

4. Address at which the quotations are

Institute Murshidabad, Kulori, Post: Uttar Ramna,

to be submitted

P.S. Raghunathganj, Dist.: Murshidabad,

Pin:742235, WB, India

5. Date and time of opening tenders

: 15.10.2019 at 3.30P.M.

6. Place of opening tenders

: Registrar's office, MDI M

7. Validity of offer

: 14 days from the date of opening the tenders.

- 8. All the rates shall be quoted in the prescribed format attached as Annexure-I. No other format for submission of bids shall be acceptable.
- 9. The acceptance of the quotation will rest with MDI Murshidabad who does not bind itself to accept the lowest quotation and reserves to itself the authority to reject any or all the quotations without assigning any reason. All quotations in which any of the prescribed conditions are not fulfilled or are incomplete in any respect are liable to be rejected.
- 10. Taxes on any material in respect of the contract shall be payable by the contractor and MDIM will not entertain any claim whatsoever in this respect.

11. TDS(IT) will be deducted as per rule of the land.

REGISTRAR MDI Murshidabad

MDI Murshidahad

Page 2 of 6



## Annexure -I

To,
The Registrar
Management Development Institute Murshidabad
Kulori, Uttar Ramna, Raghunathganj.
Dist:- Murshidabad, West Bengal – 742235

Ref: MDIM/Admin/NIT/CIVIL/2019/SEP-1,Dated:20.09.2019

## Request for quotation (RFQ)/Call for Bids

Name of the Work: Construction of New Faculty Rooms Adjacent to Library Space at First Floor Level at Academic Block.

	BILL OF QUANT	ITIES			
SI. No.	Description of items	Quantity	Unit	Rate	Amount
1	Brick work with 1st class bricks in cement mortar (1:4) (AT FIRST FLOOR LEVEL)	2.5	сим	₹6,611.00	₹ 16,528.
2	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering comers as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (first floor).[Excluding cost of chipping over concrete surface] With 1:4 cement mortar.	32	SQM	₹ 202.00	₹ 6,464.
3	Rendering the Surface of walls and ceiling with White Cement base WATER PROOF wall putty of approved make & brand.(1.5 mm thick each) three layers. Including Cleaning the walls and ceiling by scraping, sand papering and smoothening down the surface including putting.	320	SQM	₹194.00	₹ 62,080.
4	Priming two coat on timber or plastered surface with synthetic oil bound primer of approved quality including smoothening surfaces by sand papering etc.	320	SQM	₹ 76.00	₹24,320.
5	Protective and Decorative Acrylic exterior emulsion paint of approved quality, as per manufacturer's specification and as per direction of EIC to be applied over acrylic primer as required. The rate includes cost of material, labour, scaffolding and all incidental charges but excluding the cost of primer. Super Protective 100% Acrylic Emulsion.(Two coats)	170	SQM	₹82.60	₹ 14,042.

Deuper

Surpor Some hours

6	Supplying, fitting & fixing of Aluminium fixed portion wall of all aluminium sections viz top, bottom and side member, intermediate member, glazing clip made of Aluminium Alloy Extrusions conforming to IS: 733-1983 and IS: 1285-1975, anodized conforming to IS:1868-1983, fitted with all other accessories viz. EPDM gusket, cleat, angle screws etc. including labour charges for fitting and fixing of aluminium fixed partition wall with glass / panel board all complete as per architectural drawings and direction of Engineer-in-charge.(Excluding cost of glass/ panel board, 10-12 Micron thickness Anodizing film). weight of Al-Sections for Partition wall @ 5.7 Kg per Sq.M	1206	Kg.	₹391.00	₹ 4,71,546.
7	Supplying, fitting & fixing of partly glazed partly panelled or fully glazed single leaf Aluminium swing door of all aluminium sections viz door frame (top and side frame), shutter(top rail, bottom rail, lock rail, door vertical), glazing clip made of Aluminium Alloy Extrusions conforming toIS: 733-1983 and IS: 1285-1975, anodized conforming to IS:1868-1983, fitted with all other accessories viz. EPDM gusket, cleat, angle screws etc. including labour charges for fitting and fixing of aluminium door with door spring,/aluminium hinges, glass / Panel board all complete as per architectural drawings and direction of Engineer-incharge. (Excluding cost of glass/ panel board, door spring/ Al hinges, door closer, door stoper, handle, tower bolt and locking arrangement etc). consider weight of Aluminium door @ 9.0 Kg per Sq.M	193	Kg.	₹ 385.00	₹ 74,305.4
8	Supplying, fitting & fixing in position suspended false ceiling with frame work of aluminium/steel hollow section of size 50mm X 25mm (2.0mm thickness) Complete in all respect including all incidental charges etc. as per direction of Engineer-in-charge. (with GI framing.) Armstrong ceiling Tiles or equivalent.	135	SQM	₹ 2,287.00	₹ 3,08,745.0
9	Providing and fixing exterior quality Aluminium Composite Panel (ACP) wall cladding on existing Al. /MS frame work with GI brackets, ACP fixed on the existing frame work by folding the edges of ACP panel (Engraving the rear surface of ACP sheet) with CP angles, cleats and stainless Steel screws forming groves at the periphery of ACP panel. Such grooves filled with foam and silicon sealant etc. complete with all materials (but including the cost of silicon sealant), labour, scaffolding and all other incidental charges complete in all respect as per specification and direction of Engineer-in-charge. (Mode of payment is on finished surface area of ACP). 4mm thick (0.50mm Al.+3.0mm LDPE +0.50mm Al. PVDF coating)	160	SQM	₹ 2,878.00	₹ 4,60,480.0

Thurth

0/c

	Total Amount inclu		of the state of	and abnorman	₹ 17,12,631.0
18	Supplying 6 levers 'Godrej' Crystal Saltine Mortice Lock with keys including fitting & fixing complete.	8	Each	₹1,954.00	₹ 15,632.0
17	Supplying fitting and fixing door handles.	16	Each	₹1,100.00	₹17,600.0
16	Supplying Aluminium casted body hydraulic door closer as per I.S.I. Godrej Hydraulic door closer fitted and fixed complete.	10	Each	₹2,064.00	₹ 20,640.
15	Supplying heavy duty hydraulic double action floor spring along with top pin/set of pivots conforming to IS: 6315 or any approved make as per direction of Engineer in charge.(Godrej)	9	Each	₹8,600.00	₹ 77,400.
14	Labour for removal of 3 nos. glass windows.	3	Each	₹1,500.00	₹ 4,500.
13	Labour costing for cutting chase for 6 nos. Air conditioners and other misc, works.	7	Each	₹1,250.00	₹ 8,750.
12	Filling the gap in between aluminum frame & adjacent RCC / Brick/ Stone work by providing weather silicon sealant over 6mm dia backer rod of approved quality as per architectural drawings and direction of Engineer-in-Charge complete. Upto 5 mm depth and 5 mm width.	58	Meter	₹59.00	₹3,422.0
11	Supplying best Indian laminated safety glass 5 mm, thick including cutting to required sizes, setting on putty bases and fitted and fixed with teak glazing beads (19 mm x 12 mm) including putty and nails as necessary complete.(In all floors for internal wall & upto 6 m height for external wall). (Including lifting charge & wastage complete). Saint Gobin/Modiguard makes.	31	SQM	₹ 2,047.00	₹ 63,457.0
10	Supplying ,fitting & fixing of 2-Track / 3-Track Aluminium sliding Window of all Aluminium sections viz. window frame (top, bottom & side frame), shutter (top, bottom, side & interlock member) made of aluminium alloy extrusions conforming to IS 733-1983 & IS 1285-1975, anodised conforming to IS 1868-1983, fitted with all other accessories viz. PVC roller, EPDM gasket, maruti lock, screws etc. including labour charges for fitting & fixing of aluminium 2-track/3-track sliding window with fixing of glass (excluding cost of glass) all complete as per architectural drawings and direction of Engineer-incharge. 10-12 Micron thickness Anodizing film Natural white weight of 2- track Aluminium window @ 5.5 Kg per Sq.M.	140	Kg.	₹448.00	₹ 62,720.0

Estimated amount in words: Rupees Seventeen Lakhs Twelve Thousand Six Hundred and Thirty-One only.

Page 5 of 6

Sampan .

0/6

Quoted rateamount.		(%) ABOVE / BELOW the estimate
Total quoted amount in we	ords (inclusive of all taxes)	<u>):</u>
a a		
<ol><li>Rate to be quoted in</li></ol>	cluding all taxes, labour &	efore submitting quotations. incidental charges. ayment would be made on actual quantity used.
NAME & ADDRESS OF TI	HE BIDDER:	Signature of the Bidder
		With official seal
MOBILE NO.		

Deugh